Note: the best way to study for the tests is to:

· Start by reading the lecture notes twice 
· Then, leave the notes aside and answer the questions (I do not value answers that are transcriptions of the lecture notes).
 If you do this, you’ll have to study much less before for the exam.

Reserve some hours (perhaps 4) every week to answer the questions. 

The answers should be handed at the next lecture. They should be manuscript (not typewritten) and preferably based on schemes. Keep a copy for yourself.

Please write WEEK 11 in bold at the beginning of your answers.

Week 11: Ch. 10: Replacement of MP by FP (conclusion)
1.a) Using a scheme, explain the operations that occur between the CB+Gov, Institutional Investors (I.I.s)/household savers and banks, when I.I.s/household savers sell massive amounts of TBs and the CB buys them up.
b) Explain the consequences in terms of:

(i) the form of private sector wealth.
(ii) the quantity of money in the economy.
(ii) the amount of excess reserves if the required reserves ratio is 1%.

2.  a) The fact that the amount of money at the disposable of households has increased in question 1 is unlikely to lead them to increase consumption. Why? 
b) Suppose now that the quantity of money at the disposable of households increases as a result of them getting bank credit. Will that increase in the quantity of money lead to an increase in households’ expenditures? Explain.
c) In which case will the increase in the amount of money at the disposable of households in question 1 lead them to increase consumption? Explain.
d) If that increase in consumption happens to raise AD above FE, under the alternative policy framework presented in the lectures inflation will not increase. Why not?
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As the figure shows, the Fed started to inject reserves into the banking system between the fall of the Lehman Brothers in Sep 2008 and the end of 2013.

3. a) Explain what a QE operation consists of.

b) Explain why QE operations increase banks’ excess reserves.

4. a) Why haven´t the injections of reserves by the Fed’s QE operations led to a noticeable increase in amount of credit?

b) And why haven´t them led to a visible increase in the quantity of money (M1)?

c) What was the ultimate destination of the reserves acquired by banks as a result of QE operations? Answer in L9
5. Why wouldn´t the increase in banks’ reserves resulting from a sell-off of government bonds by I.I.s lead to an increase in the amount of bank credit under the alternative policy framework?

6.Why can banks expand credit without a prior increase in their reserves?

…
7. If the maximum proportion of the total value stocks bought with debt is reduced from 

50% to 1/5, and investors maintain the value of their own money (say, $100) they use to buy stocks, by how may percent does the total value of stock purchases fall?

8. By now, assume away foreign investments. 

a) What are the possible destinations of the amount of money obtained by savers in question 1?
b) If I.I.s happen to buy assets, what are the three different destinations of the money received by the asset sellers?

c) These destinations are unlikely to include consumption. Why?

d) The amount of money obtained by savers in question 1 can start or feed asset bubbles. How?

e) How can authorities contain those bubbles?

10. Give two reasons why persistent large public deficits are unlikely under the alternative policy framework.
11. a) In an economy with a constant nominal GDP growth of 8% and a constant budget deficit of 10% of GDP, the debt-GDP ratio will tend to which value? Explain.
b) Why can possible asset-market bubbles resulting from a public debt of 200% GDP  be easier to contain than those resulting from a public debt of 2000% GDP?
c) If the total budget deficit is a fixed proportion of GDP, the larger the debt relative to GDP the lower will be the growth of debt. Why?
12. a) If the price of US tradable goods is 1$ and the price of eurozone tradable goods is 2€, and today 1$ is equal to 1€, what will happen? Explain.

b) If the long run is five years from now, what is the expected change in the value of the euro per year? Explain.

13. What is the effect of an immediate x% depreciation of the $ on the expected subsequent evolution? Explain.
Note: This is a ceteris paribus argument. Therefore, whether the value of the domestic currency ($) was initially above, equal or below the value to which it is expected to return in the long run is irrelevant.

14. If public debt is transformed into CDs, and savers and I.I.s use the newly acquire money to invest in foreign bonds, what will happen to the exchange rate? Explain.
d) What will be the effect of the change in the exchange rate on the total amount of foreign bonds investors will want to buy? Explain.





…

Note; Unlike in a fixed exchange rate system, in a flexible exchange rate system I.I.s can only sell euros to buy the dollars they need to buy American TBs, if there are some other private sector agents willing to buy those euros. 

So the CDs obtained by savers (following their sales of government bonds) are shifted to those other private agents, and will be ultimately converted into SDs. 

Thus, for the private sector as a whole foreign TBs are not an alternative to domestic deposits.

Three final questions to fix the main conclusions about the alternative policy framework:
15. a) What is the immediate effect of a massive sale of government bonds by I.I.s on the amount of CDs? Explain.

b) What will be the subsequent applications of those additional CDs? Explain.

c) Is your answer to b) compatible with the data presented on figure 2 below about the evolution of M2? Explain. Note: M2 = Circulation + CD + SD.
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16. a) Under the alternative framework, what is the ultimate effect of a massive sale of government bonds by savers on banks’ excess reserves? Explain.
b) Is that in line with the what happened with the results of the QEs of 2008-13 shown in the above figure? Explain.
17. What is the effect of the massive increase in CDs and banks’ excess reserves on AD and inflation? Explain.

